[ Efficiency vs vertpos |
~0.02

TS NS N S S—

] ORI G 8 U U G o

1072 10 1 10 0?
TP vertr (cr%)

—=#— DQM_CKF_XiMinusPU_base
Efficienq —— poMm_cKF_xiMinusPU_retrainOldFiles125_v2_prelimWPM_epoch0

~ 0.02[ : : : : :
s s O e
L S O S
L B 1R
o1z
T R L1
0,008 ++-vvsvof oot
0.006F : ' : :
0.004F
0.002F
of

EHHCIRRCY S 8T

Ratio

....................

1.5f—--nene PR A1

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.01
>
80.009
5008
%.007
>
3.006
@
£.005
(]
0.004
0.003
0.002
0.001}

e
1.2

................................................

................................................

................................................

Ratio

1.1

1

o
I

o

o

§ ora
o

=L

o

] 20
Sim. PV z (cm)



	Contents
	Page 1


